YA : 111/05/25
AR . BEEECRM
BER | REEE
1 EREEEEETEE
4B-H Ly
BEREEESHE 1 -
BEREEEEHE : 100
) | EREEREETEE
48 -
BEREEESHE 1 -
BEREEEEHE : 100
3 | EREERERTEE
18- 5530
BREEESHE 1 -
BEREEEEHE : 100
4 | EREREEE RS
48-95 15 1
BREEESHE 1 -
BEREEEEHE : 100
5 |REEmBEEEIR1000
B 58 A KR (R EIARES
I EEERARIEERE
S —ERBEEIERAE
BEREEESHE 1 -
BEREEEEHE : 100
6 |ARFESHEZR S LEA
BERBEESHE 1 -
BERESHEENE : 255
7 AR ESEERFLEA
PSR
BEREEESHE 1 -
BERESEENE : 255
8 |ARZSWEEEEIRE
IR
BEREEESHE 1 -
BERESHEEHE : 10
9 |AIRZ & @ E KA B e
e
ERBEESHE 1 -
BRESHEEHE : 255
10 ARERREEHESES
PR R
ERSEESHE 1 -
BRESHESHE : 255
11 AQIEBEEZM
BERSEESHE 1 -
BEREBEEHE ;5

- 5] KRR 2

E

E

E

CESTEE - 2RAHEBS : (02)6600255
CBHERIEEER ;. 112/05/24 - BEOE © EAsEEE
B AESE | BEES =i
65,713 EREHEEETENE B
4B
50,546 =R EE BB L B | B
18-
55,602 =R ESAE AL TEE B
48-E530 K
75,824 R EREAE B | B
48-F2 1T 1
136502 RAEmERESRE | B4
10001835 A KR (1244
BRESN: - EIDE IhAEREE
ERERTE— R BH
SRR A S AR)
29,828 AR EEREZR F(LE |28
|
50,051 AIRFESREZRF(LE |28
4R RR
756,320 ARER RESHL Y |2
eI fE P i A
44995 ARERAEEELIE =E
BHiEE
65217 ARERRESCEERE BE
B AR P R
61,780 AQ BEEE 24 =%



12

13

14

15

16

17

18

19

20

21

22

23

24

25

AQIZERmBZINEE

AEENNESREA

BREREEHE :

BERESEEHE

AQIEZm mEEEEHIREH
BRERESHE :

BEXRESRERE .

AQIZm mEEEZEHIREH

BREREEHE :
BEXRESRERE .

AQIEENMEERZ M

BREBEESHE .
BERESEEHE

IR ERBRIEZEIRE

#H

BERERESHE :

BRESEEHE :

IR ERRIEZE RS

#H

BRERESHE :
BEXRESRERE :
ENERmEEES

=)
EE2

1 -
5

1-
5

6

100

U'II—‘

1 -
80

81 »

200
£ e

PM10#H Ef,j:«?ﬂﬁﬂ’fiiﬂ

BEREREEHE :
BRESESHE :

/(= O &

EANTEmmEEEE

15
£ e

PM10AHR Z HRE 4

BEXRZBEBREHE :

BEXRESRERE :
R B REE
BEXRZBEBREHE :
BEXRESRERE :
B REE
BEXRZBEBREHE :
BEXRESRERE :

16 -

220

BEEEEERE

1-
30

BEE T EERE

31 -
200

RiEmEENTEHES £

BRE&

EZIEWEE ST
EI=EN

BRERESHE :
BEXRESRERE :

REEBED

BE U5 IRERR
EI=EN

BRERESHE :

BEXESEERE

ERmEEFEE

CO2 - Temp »

~EBERE
BRESEEHE :
REEBED

1\
10

1 -
50

51 -
: 200
B
RHZ4H

E

E

134,681 AQIZRmEBEZINEEEF
EEEENEEREA

30,839 AQIZ & m
#H

BEBZEHE

30,253 AQIZ & m
#H

BEMBZEHE

153,234 AQIEEEER A4

19,110 e ERiaisiz =1

=4

14,848 ZIeeEnbaistz =1
=

33,003 ZEAZERmEE
PM104H & 2 A= 4

Z* BEE ?V‘E

29,596 ZEAERmBEEER T
PM104H & 2 A= 4

32,609 | FE &5 BEEetE
#H

30,556 FE &5 BEEEetE
#H

175,430 RIRm

BERIEHEE

41,052 B EN TS RIRBRARIE
AR iEI=E

39,293 BB SR REAALE =
HITBERM

66,741 R mMEE =
CO2 - Temp * RH#&E#H

B 45 L o

=

==

= ek

=/

= ek

=/

= ek

=/

= Yk

=/=

= Yk

=/=

~ah

~ah



26

27

28

29

30

31

32

33

34

35

36

37

BEXZBEREEE : 1 -
BEXRESHBERHE ;5

/= O = 5 = BEE
TRmEEFEEET

CO2  Temp - RHEAH
BREBEESZE= 6 -
BRESERHE : 220
ERmEEBEFEEETCO
— S EixEHE
BREBEESZ= 1 -
BRESERHE : 25
ERmBEEBEFEEETCO
— S EixEHE
BREBEESHE . 26
BRESERHE : 220
TRmMEEFEERIT
HCHOBE B4R
BREBESEZ=:1 -
BRESERHE : 25
TRmMEEFEERIT
HCHOB B ##4H
BREBEESHE : 26
BRESERHE : 220
TRmMEEFEERIT
PM2.5 4015 2 s 48
BREBESH=:1 -
BRESEREHE : 25
TRmMEEFEERIT
PM2.5 4015 % g 48
BREBEESEHE . 26
BRESERHE : 220
TRmMEEFEERIT
VOCHE4H
BREBESEH=:1 -
BRESEREHE : 100
B sl
BREBESEZ= 1 -
BRESESHE : 30
B EiEslEE
BERFEESEH= : 31
BRESEEHE : 100
ZamBE—a{cikCOEH
b
BREBESEH=:1 -
BRESESHE : 30
ZErmEZ _F{bixCO28
HEAR
BREBESH= 1 -
BRESEEHE : 15

66,242 ERmBEFEELRT
CO2 - Temp * RH#E#A

33,266 ERmEEFEEETE
CO—={chxt=4H

24,646 ZRmEEFEEET
CO—=fbhxt=4H

33,266 ERmEEFEEET
HCHO®R 1= H

29,899 EmmEEFEEETE
HCHO®R 1= H

33,266 ERmEEFEEET
PM2. 54002 ik = 4

29,899 EmmEEFEEE®E
PM2. 54080 F ik = 40

40444 ERmEEFEEET

VOCH#H

10,222 B E#EHIEH

9,995 B X #EHEH

25,228 ZmmE—=|{tiKCOE
AR

65,672 ZRmE _FExCO28
AEH

~Eah



38

39

40

41

42

43

44

45

46

47

48

EZRmE_SEKCO2E
AR

BEXZBEREHEE : 1 -
BEXESHBEHE : 30
ERmMEBFMAPMI10E
AR

EREEBREHEE : 1 -
BEXESHBEHE : 30
ERmEBFMAPM2.58
AR
BEXZBEREHEE : 1 -
BEXESHBEHE : 30
ERmERBRELERE
EAR A

BEXZBEBREHE : 1 -
%'}’Qﬁ-;ﬁﬁ%’ﬁﬂ% 10
fmBFEHCHOR Al

H&

~EBERE 1 -
E=mEHE 30
ERmERBRUARIES

MTVOCES RItE4H
BEXZBEBREHE : 1 -

]hﬂ]

H
%
B

>':'r >'¢'

BRESESEE : 30
EREAMEZTRIRAER
=

BEXRZBEBEHE : 1 -
BRESESEEE : 10
ibo.aiB=EMRHEIA (Bl
AR #5) -1R2EAR- 728 ALINE

K Facebook Messengerhi
AR /1 ELTRS
BRERBEEHE : 1 -
BReEEEEHE : 10
ibo.ai&E Z = M tkzs A (Bl
A #5) -12 2 A - 28 ALINE
K Facebook Messengerhi
AR /HEEFTRE
BXREBEHE 1 »
BReEEEEHE : 10
ibo.ai&E Z =M% =E A (Bl
AR #5) -1Z#E Al -1 28 A B I
%@Eﬁﬁ%ﬁﬁéﬁ /1EEETR
BXReEBEHE 1 -
BReEEEEHE : 10

ibo.aiEEERERA (Bl
AR#5) -1R2E AR -1 23 A Bl

%@Eﬁﬁ%ﬁﬁéﬁ /HEEETR

E

E

E

E

25,228

25,228

25,228

808,797

35,339

25,228

151,567

84,924

59,444

84,924

59,444

2EXCO2% | =

-
’“%uu

ROFIRIPM10

ERmERBREEREN
EEREE
ERmEFEHCHOE A
ke
ERm T@ﬁ"“’ﬁﬁﬁk{t
SMTVOCE AR
EREAMEZETRIRA
NEM

ibo.aiE == AR HEA(E
Im AR %5) 1R ZEAR-TEER A
LINE K Facebook
MessengerfR#51E4H /1
FEI R

ibo.aiE == ARHEA(E
Im AR %) 1R ZEhR-TEER A
LINE & Facebook
MessengerfRF &4 /=
FEI

ibo.aiS =X Rz A(E
ImARTS) A= AERR-T =R A
Bllm A B RS54 /1
I

ibo.aiEEEARMEA(E
I AR #5) -1RZEAR-EES A
Aln AN B RTS8 /H F

=/=

= ek

= /=

=

= /=

=

= /=

= G4

=/=

= i

=/=



49

50

51

52

53

54

55

56

57

BEXRZBEREHE : 1 -
BEXESBEHE : 10
ibo.aiB=ERHEFA (Bl
AR #5) S00FNEF S E /R

£ /1ELTH
ERSEESHE 1 -
ERBEBEHE : 10
ibo.ai SEE IR ISE A (E17
BR3) S004IBU B BER
£ /EELTH
ERSEBESHE 1 -
ERBEBEHE : 10
ibo.ai SEE IR ISE A (E17
ARTE) 12 RR (2 50040352
A8, 585000005 0E
=) /1EETRE
ERSEBESHE 1 -
ERBEBEHE : 10
ibo.ai SEZIRISE A (Bl
ARTE) 12 RR (2 50040352
A8, 585000005 0E
=) /HEEETRS
ERSEBEEHE 1 -
ERBEBEHE : 10
ibo.ai SEZ IRISE A (Bl
fR7%) 850000 8 EE
SH%e /1ETE
EREEBEHE 1 -
ERBEBEHE : 10
ibo.ai SEZ IRISE A (Bl
fR7%) 850000 2 EE
SiE7A /L ELTH
EREEBEHE 1 -
ERBEBEHE : 10
ibo.ai SEE PRS2 A 2 5-
=3t 1y - AD/LDAPIESEEE S
14
ERSEBEHE 1 -
ERBEHEEHE : 10
ibo.ai R EE R 2E A A 4-
=% 1R -AD/LDAPIESEE &
K4 /14E 5 RIS
EREEBEHE 1 -
ERBEHEEHE : 10
ibo.ai S EE 2R A A 4-
5t 1 - 37 48 1 B 22 RS2 A
B

=)

84,924 ibo.aiEB 2 EMEBFAN(E
ImART5) S00XNHF A E
B el /15FE] R

84,924 ibo.aiEZE MK AN (E
I AR #5) SO0FI A =
BERE /A ERE

339,727 ibo.aiBEXER R A(E
I AR %) 122 bt (250040
HrAE, H50000:
SEEEE) /151

212,326 ibo.aiEEE R AE
I AR %) 122 bt (250040
HrAE, H50000:
REIESE) /+F:] R

169,858 ibo.aiESE X R eE A(E
ImAR#%) B A 50000512
CIB=EAE /1F5]RE

118,898 ibo.aiEfEX R zE A(E
Im AR %) B A 50000512
CIEBEEAE /FF]HE

169,858 ibo.ai&E EXE Rtz A &
- 1Z#ERR-AD/LDAPIE
REESEA

84,924 ibo.aiEZE MR AR
#e-1Z 2 IR-AD/LDAPIR
MEGRA /1FEAR

1

127,391 ibo.ai&EEE Rz A %
#7512 2E f - 12 1 E = AR
e NBFTTIRHE

= ek

=/=

= ek

= /=

= ek

= /=

= ek

= /=

= ek

==

~Eah



58

59

60

61

62

63

64

65

66

BRERBEEHE 1 -
BRESESHE : 10
ibo.aiBEEEARKER A\ 24
DA RR-FTIG 1B = AR 28 A
ERISE /1 EF R
BRERBEEHE 1 -
BRESESHE : 10
ibo.aiEEE kKR A\ 24
ZAERR-128 ALINEK
Facebook MessengerfR#%
1 2H

BRERBEEHE 1 -
BRESESHE : 10
ibo.aiBEEE R A\ R4 -
TA - 28 ALINER
Facebook Messengerfg#%
B4H /1 EFRISHE
BRERBEEHE 1 -
BRESBESHE : 10
ibo.ai EEE R A\ R4
TAEhR-# 28 A R A B AR
R4

BRERBEEHE 1 -
BRESBEEHE : 10
ibo.aiEEE R A\ R4 -
TAEhR-#¥ 28 AR IR A B AR
TRAEAE /1R 1F RIS
BREEBEHE 1 -
BRESBESHE : 10
ibo.aiEEERKER A\ R4 -
TER(ZLEZEREZRA)
BREEBEHE 1 -
BRESBEEHE : 10
ibo.ai EEE R A\ R4 -
TER(ZLEZERERAN)
/1P RIS HE
BREEBEHE 1 -
BRESBESHE : 10
BEEEERERRE)Z
#E bR - A i X 7 2= ARG AR AR
TR /1R’
BRERBESHE 1 -
BRESBEEHE : 10
BEEEEERERRE)Z
#E R - A i X 7 2= AR GE 4R R
AR et /TR
BRERBESH=E 1 -
BRESBEEHE : 10

63,691 ibo.aiEEEE Rz AR
- 1EXE AR -FT IS 118 &= AR
R ANBRRE /156E
PR

169,858 ibo.ai&EEE Rz A %
#1224 hin -1 =3 ALINEK
Facebook Messengerfik
T51R4H

84,924 ibo.aiEEXE Rz A R
#e- 122 R -1 28 ALINE A
Facebook Messengerfi
IR /IR

169,858 ibo.ai&E EE RikzZ A &
w7 -2 XERR -1 23 A B I 49
BiR7EE 4

84,924 ibo.aiES ==tz A F
w7 -1 R XERR -1 23 A B It 49
BRFEEAR /1F AR

i

679,464 ibo.aiES=EE Rtz A %
17 - 12 hR (2 11E = AR
2= A)

339,727 ibo.ai&EEE R A %
#7122 hR (2 11E = AR
22N /1 EERERE

57,958 EEEEER(EIRRT)
ARHE R - B i X B AR 2E
ARIRTFIEE S /1FR]
]

34,813 EEEEER(EIRRT)
ARHE R - B i X B AR 2
RIRFS AR A BB /¥ R
]

= ek

= /=

= ek

= /=

= &t

=/=

........



67

68

69

70

71

72

73

74

75

76

77

78

BEEZEEER(EmRTE)R
HER(EBRLETFE LIEERE
HEASHE) /1 E5T R
BREEBERE 1 -
BXReEEEEHE : 10
BEEZEER(E R
HER(BLETFE LIEEZRE
HASHE) /HE EET R
BREEBERE 1
BReEEEHE : 10
BESEZEER(E R
R/ INBEERELFE] R
BREEBERE 1
BReEEEBEHE : 10
BESZEER(ERRTE)ZT
R/ INBEEREFFE]R
BREEBEHE 1 -
BReEEEEHE : 10
BESZEER(ERRTE)ZE
R/ INBE R ERKELER]
BREEBEHE 1 -
BReEEEBEHE : 10
BEEZEER(ERRTE)ZE
R/ INIBE IR EKEF F
BREEBEHE 1 -
BReEEEEHE : 10
DolphinSurvey 2.0 RE%
e (—FERER)
BREEBEHE 1 -
BReEsEERE 5
DolphinSurvey 2.0 RE%
e (ZFEER)
BREEBEHE 1 -
BReEsEERE 5
DolphinSurvey 2.0 B &R
Bome e e e (—EEE
BREEBEHE 1 -
BReEsEERE 5
DolphinSurvey 2.0 B AR
o a e (=R
BERFEBERS . 1 -
BREsSEERE 5
DolphinSurvey Pro 2.0
B ES (—EEER)
BERXRFEBERS . 1 -
BRESEERE 5
DolphinSurvey Pro 2.0 £
BoirEae (ZFRER)

E

i

B

i

90,445 EEEEER(ERRF)
TERELIEEE 1IES
ARIEH X E)/1FRTF

72,609 EEEEER(EHRT)
TERELIEEE LIRS
AREWIERE)/ 5]

37,701 EEEEER(ERRT)
R/ EE R LFE]
]

13,087 EFEEER(ERRT)
RERR/MIEEEREFF
HIE

23432 EEEEER(ERK)
REERR/IIME = AR EE L
FEIE

8,653 EEEEER(EIRRT)
TREERR /B = AR B %
FFE]E

297,078 DolphinSurvey 2.0 BR&
niTFEe (—EEER)

654,675 DolphinSurvey 2.0 BR&
PTG (=FIRER)

320,020 DolphinSurvey 2.0 &%
RIZmEREYE (—F
BRRERR)

704,408 DolphinSurvey 2.0 B
R mEREYS (=F
ZHERR)

737,866/ DolphinSurvey Pro 2.0
EEAFE (—FE&E
hk)

1,299,344 DolphinSurvey Pro 2.0
REDITES (ZE&E%E

= ik

==

= ek

=/=

= ek

= /=

= et

=/=

= W

= /=

~ah

........



79

80

81

82

83

84

85

86

87

88

89

90

BREEBERE 1
BReEsSEERE 5
DolphinSurvey Pro 2.0 &
BEiR#SwEREE e (—F
1S HERR)
BREEBERE 1 -
BReEsSEERE 5
DolphinSurvey Pro 2.0 &
BElRFFmEREYS (=F
1S HERR)
BREEBERE 1
BReEsSEERE 5
HUTHESHERETS
A(CRM+eDM)—FE##E Rk
BREEBEHE 1 -
BReEsSEERE 5
HUTHESHEREYS
A(CRM+eDM) = F##E Rk
BREEBEHE 1 -
BReEsSEERE 5
HUTHESHEREYS
B(CRM+eDM+CM)—F1%
R

BREEBEHE 1 -
BReEsEERE 5
HUTHESHEEYS
B(CRM+eDM+CM)=%F%
R
BREEBEHE 1 -
BReEsEERE 5
HUTHESHEE &
PETHREE AH
BREEBEHE 1 -
BReEsEERE 5

T e 3 E5 B P A S BR AR A
BREEBEHE 1 -
BReEsEERE : 255
B B ee B R F b EAE
BERXRFEBERS . 1 -
BReEsEERE : 255
8 | S BE 2= I B FR AR 4H
BERXRFEBERS . 1 -
BREsSEERE 5
NIZEEFHERE
BERXRFEBERS . 1 -
BReEsEEESE 1172
NIEEEEESEH

E

E

E

E

i

iy

635,005 DolphinSurvey Pro 2.0
BERSRERAEYS
(—EEHERR)

1,397,375 DolphinSurvey Pro 2.0
BERBZmERAEYE
(= EFERHERR)

401,274 BUTIHESERERETS
A(CRM+eDM)—F1E#E
hi

891,418 Bl (TH S BERET S
A(CRM +eDM) = i
hi

594,765 HUTHESHKERE TS
B(CRM+eDM+CM)—%
RAERR

1,309,237 HfITSHE B EER S
B(CRM+eDM+CM)=%
RAERR

247,101 BMITTHEERERETS
HEFEINBEE A

17,139 %7 R S RE W8 2 BB 1R A

25,733 # i B E e B EFER A

634,934 i A EEEIn ERHEH

= ek

=/=

= ek

=/=

= 4

= /=

= ik

=/=

= ek

=

= /=

=

= /=

= ek

~Eah

~Eah

~ah



91

92

93

94

95

96

97

98

99

100

101

102

103

104

BEXZBEREEE : 1 -
BEXESBEERE : 95
ERmEMNERZSEA
BEXZBEREHEE : 1 -
BEXRESHBERE : 154
ERmEBBEDTEH
BEXZBEREHEE : 1 -
BEXRESBRERE : 228
ERmEEREEREHE
BEXZBEREHEE : 1 -
BEXRESBERE : 49
WBGT#R & mE e e 12
BHEAM
BEXZBEBREHE : 1 -
BEXRESBEHE : 50
WBGT#R & mE e a2
BEAM
BEXRZBEBEHE : 51 -
BEXRESEERE : 200
purt= Yk e VA o=y S
R4

BEXZBEBREHE : 1 -
BEXRESHEEHE : 80
purt= Yk e VA =y S
&R

EXRZBEBEHE : 81 -
BEXRESEERE : 200
ZHIRRETERR
EXRZBEBEHE : 1
BEXRESHBEHE : 50
ZHIRRETERSR
BEXRZBEBEHE : 51 -
BEXRESEERE : 200

BRGNSk M T AR B R A
#H

BEXRZBEBEHE : 1 -
BEXRESHBEHE : 30
BRI AR R RS
#H

BRFEBEEHE : 31 »
BEXRESEEHE : 100
ERcE kA
BREREBEEHE : 1 -
BEXRESBEHE : 30
ERcE A
BRFERBEEHE : 31 »
BEXRESBEHE : 80
KEENEN RS RAEA

B

125,765 =R mEHE N TRAE

67,001 WBGT#a R EEa# &

TEH MR

64,865 WBGT# =R Eas# &

BB AL

60,617 Jo28 /2N B

FEREH

58,535 S 2 /B BB

EREA

18,554 2RI IS REIE R4
18,131 2R REIERA

36,010 &S B R HEE T AR B

EE

35,237 | BB SR PR T 4R B

ik

161,729 | EEcE 2R

156,515 | EHcE 2=

78,817 KB ENI BRI AR5 BRI

ot

=i

Saohit

= G4

= G4

= /=



105

106

107

108

109

110

111

112

113

114

115

116

BEXZBEREEE : 1 -
BEXESHBEHE : 80
KEENEN RS BAES
EXRZEBEHE : 81 -
BEXRESBERE : 200
EHBEZ AR
BEXZBEREHEE : 1 -
BEXRESHBERHE ;5
ERmEIERRINERAE
AFAH

BEXZBEREHEE : 1 -
BEXESHBEHE : 10
ERmEIERIRINERA
ArAH

BEXRZBEBEHE : 11 -
BEXRESBEHE : 30
ZERmE BRI RN ERE
EREH
BEXZBEBREHE : 1 -
BEXRESBEHE : 20
ZERmE BRI ERE
EREH
EXRZBEBEHE : 21 -
BEXRESBEHE : 50
ERmEZEZEHEN
CO28INITR A
BEXRZBEBEHE : 1 -
BEXRESHBEHE : 30
ERmEZEZEHEN
CO28INITR A
BEXRZBEBEHE : 31 -
BEXRESEERE : 100
ERmEZEBFHENCO
ENREEAH
BEXRZBEBEHE 1 -
BEXRESHBEHE : 30
ERmEZEHFHENCO
MR EEA
BRFERBEEHE : 31 »
BEXRESBEHE : 80
ErmEZEBHEN
HCHOZAZ 242 4H
BRFREEHE : 1 -
BEXRESBEHE : 30
ErmEZEBHEA
HCHOZNAZ 242 4
BRFEREEHE : 31 »
BEXRESHBEHE : 80

E

#H

76,717 KB RN E R 4= 5 B RE

#H

384,176 EHBREEHZZRMR

695,176 Z=mmE SRR INERE

RZF4E

680,715 Z=mmE SRR INEFRE

FZF4E

137,308 | Z= s E B AR RIS AR I

EREAER

134,224 =R mE E RIS EIRIE

EREAEAR

32305 ZmmELZEEHEEAR

CO2&NIRAEEA

30253 | ZmmELEEHEEAR

CO2#NIIR A

24,629 ZmmEZEEEBEAR

CORNIIRAEA

24091 ZmmEZEEEBEAR

CORNIIR A

22,249 ErmBEZEBHEA
HCHOZU AR =4

21,555 ZrmBEZEBHEA
HCHOE AR 2= 4

= ek

=/=

= ek

=/=

= ek

=/=

= ek

= /=

= s

=/=

= ek

=/=

= ek

Saohit

= G4

==



117

118

119

120

121

122

123

124

125

ERmEZZEHEN
PM10SINI1R AR H
BEXZBEREHEE : 1 -
BEXESHBEHE : 30
ERmEZEZEHEN

PM10EINI1R AR

EXRZBEBEHE : 31 -

BEXESHBEHE : 80
ERmEZEZEHEN

PM2 58INI1R AR

BEXZBEREHEE : 1 -
BEXESHBEHE : 30

ERmEZEZBHEN

PM2 58INI1R AR 4

EXRZBEBEHE : 31 -
BEXRESBEHE : 80

DU /= O E5 £0

SE S om s
ETRmEBEEITEREERNE

AR
BEXZBEBREHE : 1 -
BEXRESBEHE : 80

DO /= O E5 %0

SE S om s
TRmEBEEITEREERNE

AR
BEXRZBEBEHE : 81
BEXRESEERE : 200

EREIRBRREREZA

BEXZBEBEHE : 1 -
BEXRESHBEHE : 10
HEERAKEEEEA
BEXZBEBEHE : 1 -
BEXRESBEHE : 30
EERAKEEEEA
BEXRZBEBEHE : 31
BEXRESEERE : 200

N

~

E

E

E

E

24319 ZmmEZEEEBEAR
PM10RII1R AR H

23,787 ZmmEZEEHEEAR
PM10RII1R AR

24319 ZmmEZEEHBEAR
PM2 58I 1R AR

23,787 ZmmEZEEEEAR
PM2 58I 1R AR

36,728

35,671

586,400 BIRENGEMEIE A48

16,248 EEEANEEEEA

15,886 EEEAINEEEEA

=

=/=

= ek

= ek















































































































































































































































































































